/\

HoLanoHouse  Assembly Instructions

9186-22HF

9186-22R
9186-22CAN

OPTION 1 OPTION 2

_KING CANOPY POSTS, GREY

KING CANOPY HEADBOARD, FOOTBOARD, SLATS,
SUPPORT LEGS, GREY
KING CANOPY RAILS, GREY

* Hardware place at the back of Footboard )

Parts List
N
#1 x1pc A _ #8 x1pc h
Headboard ) Canopy Front Left Leg
—
] A
i #2 x1pc - #9 x1pc h
I Headboard Left Leg Canopy Front Right Leg)
—
N )
Bl #3 x1pc A o #10 x1pc h
I Headboard Right Leg ) Canopy Back Left Leg
—
R
\ #4 x1pc #11 x1pc
Footboard " Canopy Back Right Le
—
R
#5 x2pcs #12 x1pc
Side Bed Rail Canopy Front Rail
—
R
\ #6 x4pcs B #13 x1pc )
. | Straight Slat ) Canopy Back Rail )
—
R
m #7 x16pcs h #14 x2pcs )
Support Leg ) Canopy Side Rail )
D
4 \ ~
J

\ #15 x1pc
Support Rail

* Installation requires two people

Page 1 of 7




/\

HoLanoHouse  Assembly Instructions

Hardware List

-~ B e a
#A x4pcs #E x18pcs
3 (e |Bolt @%/1 6"x85mm ] . = | Lock Wgsher @5/1 6"]
: ) #B x4pcs h : ) #F x18pcs h
Jmmm e Bolt @5/16"x70mm Flat Washer @5/16"
. J
| #C xdpCS #G x1pc h
Bolt @5/16"x57mm Allen Key 4mm )
- J
- #D x6pcs #H x8pcs h
L Bolt @5/16"x40mm Screw #8x30mm )
STEP 1

Page 2 of 7




/\

HoLanoHouse  Assembly Instructions

STEP 2
#10

STEP 3

Page 3 of 7




/\

HoLanoHouse  Assembly Instructions

STEP 4: OPTION 1

STEP 4: OPTION 2

Page 4 of 7




/\

HoLanoHouse  Assembly Instructions

STEP 5: OPTION 1

STEP 5: OPTION 2

Page 5 of 7




/\

HoLanoHouse  Assembly Instructions

STEP 6: OPTION 1

STEP 6: OPTION 2

Page 6 of 7




/\

HoLanoHouse  Assembly Instructions

COMPLETED: OPTION 1

COMPLETED: OPTION 2

Page 7 of 7




